'.Pfoer ’ '

111

990 S
P/‘oﬂﬁc

/’WdO

Hzm M5

Variance of 10' required to meet zonin

requirements. As the cumulative averagpe

setback on Sherwood Ct. is 31'. Zoning
setback shall be not less than 25', or -

the cumulative average of existing homes

on the same side of the street.
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Variance of 10' required to meet zoning 
requirements. As the cumulative average 
setback on Sherwood Ct. is 31'. Zoning 
setback shall be not less than 25', or 
the cumulative average of existing homes
on the same side of the street.




